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I 2 mwn: multiple monw
a  If: someone cuts two heads at once — valid
b If: two people slaughter one animal, even if one is above and the other below — valid
II 12 mwn: obligation of lateral movement with knife
a  If: he decapitated the animal in one shot — invalid
i Source (5xm®): v. 1 (nonw like an arrow — lateral movement)
1 Additional (+*127n): v. 2 teaches that it must be drawn
ii ~ Story: X171 was checking an arrow, then shot a bird in flight (valid no'nw)
iii ~Challenge: perhaps he was T%nn (and no’nw is invalid)
1 Answer: they check the fore feathers to see if it cut through them
iv. Challenge: how could he fulfill o7n o3 mxn; require dirt below and above, per 1aya (v. 3)
1 Answer: he prepared/designated the entire area’s dirt
b But if: he was slaughtering (i.e. sawing) and the head came off; if the knife is at least the length of a neck — valid
i 1’1 length must be 1 neck and “something more”
1 Question: is this “something more” any amount or the another neck-width?
2 Answer: next clause — if cutting two heads, cannot mean knife need only be 1 neck-width
(a) Argument: if, in cutting one animal, require a neck-width +, cutting two cannot require less
(b) Rather: must mean 2 more neck-widths = in our case, must mean 1 full (extra) neck-width
¢ If-he was sawing at two heads (at once) and the head came off; if the knife is at least the length of a neck — valid
i Caveat: all of the above is in a case where he only sawed to or fro
ii  But: if he sawed to and fro, even a small bit, even if the knife is as small an Snrxr — valid
1 Awip ’7 only if the 10X has no hooks; if so, they tear
(a) Question (asked of 7wap *7): can a needle be used
(i) Answer: a needle tears, doesn’t cut
(b) Question: what about an awl?
(1) Answer: from mwn which also states 1nw 93, should be valid
(ii) Challenge: perhaps 1w 3 is just explaining the YnrR
(iii) Support: if a smaller implement were valid, why mention Ynrx
1. Block: Yn® must be mentioned; we don’t bar Yn® w/o hooks as n7m against one with hooks
II 23 mwn: if a knife fell and slaughtered, invalid, per v. 4 — it must be an act of nrar
a  Inference: if he knocked it off the table and it slaughtered — would be valid
b Authorship (837): 1m "7, who doesn’t require intent for nv’nw, per his ruling about the “flying knife” - 1na "3 na%n
i Challenge: ®27 already made this identification (re: X:R)
ii  justification: in that case (X:R), the person had intent to cut, but was non compos mentis; here, no intent to cut
IV backdoor discussion: if a woman was noiRr1 into waters that are valid for n%av
a 37 she may resume relations with her husband, may rnot partake of nmn
b nr “1 she may not resume relations with her husband nor partake of nmn
i Question (315 827): if 27 permits 1T MR (N13), he should certainly allow nnyIn (v”an)
ii ~ Answer: relations is 191, which require no n%av nM3, whereas NN is DWTP — which require NNVY NI
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1 challenge: v:n mrpn; if a wave (with nRD 'n) comes over a person and 91 — they are o™ 1nv (for W)
(a) assumption: perhaps DR is similar to 0’93; no intent — and this is for WP
(b) rejection: he is waiting for the wave and 9 (::0TR) — were set there in anticipation
(c) challenge: if so, it should be obvious that it is valid
(i) defense: we may have thought that we would disallow as a precaution against
(if) a mountain stream: coming down, since we rule that 712'n yx v1avp OR
(iii) the crest: which is invalid (may not “dip” in the air) — Y"np
2 question: how do we know that nin3 is not needed for p5n?
3 Answer: 1:7 p1WIn — if someone whose hands were mxnvo (for P9n) put his hands into some water to retrieve
fruit that had fallen in — they are 191V - and the fruit isn’t nxmvY 7w (didn’t get wet intentionally)
(a) But if: he intended that the fruit get wet, they are 7wamn
4 Challenge (X¥27): 2 nyin — if he intended, at n%av, for P>n - still banned from 2wyn (etc.) = PYINY N2 needed
(a) Defense: means that even if he intended (which was unnecessary) for p9n, still invalid for Ywyn
5  Challenge: ibid - if he was Y110 without intent, as if he wasn’t Y2 at all
(a) Assumption: even for pon
(b) Correction: means that he isn’t 170 for Ywyn (etc.)
(c) Support (found by »37): Rn>1 explicates — without N1, he is PN% AaMn, but not for 1wyn
6 Observation (901 “15 »218): this seems to refute 130y '3 (i.e. she needs no intent Nn’a%)
(a) Defense: > ruled like 111 ", in his interpetation of v. 5 (re: D1 'yn — only for pYin)
(i) 72w compares 2" washing to first — both need ny7T (in first — jnan M)
1. But: second doesn’t require jn2 nyT, per 1NvY — in any case
7 Challenge: 3’nv "1 always follows mwn ono, and our mwn, per im "7, allows for valid no'nw (p91N) w/o N3
(a) Defense: even ymv "1 (above) would allow for nvonw without nana
(i) Argument: if nmn invalidates mwTpa poynn - such is valid in PN
(if) Question: what is 1327’s position (contra 3™, requiring intent for nonw)?
1. Answer: they agree that no N> for no’nw is needed, but there must be intent to cut (not n%a1)
2. Observation (#37): point for 1”1 — N states nnan (v. 6); there is no “middle intent”; either intent for
nvmw is needed or no intent needed at all
8  Clarification: what sort of o1R is under discussion (of the nT1 going into water)
(a) Cannot be: that her friend dunked her — the friend’s nim3 “transfers” and she may even eat nmn
(i) Support: R:a N1 — incompetent women can be “prepared” by their friends and eat nmn
(b) answer (979): according to 11 — she fell off a bridge; to 13227 — she went in the water to cool off
9 Na7s application of 1337/371 to 7I85p3 179 5102. if he slaughtered the n18 and then another — all agree n%10a M2
(a) But: if the other one was cut (inadvertently)
(i) 2795 maisinvalid (as 24 nvNw was valid)
(if) 2275 mais still valid (as 2" nvY'NY was meaningless)
1. Challenge: this is an obvious application
2. Defense: 3’s invalidating n1a in this case isn’t obvious — per v. 7, perhaps only slaughtering anoth-
er M9 would be considered a narYn which invalidates, 9"np even 190 can invalidate
(b) Further: if he cut squash after slaughtering, ma is invalid; but if it were cut inadvertently — all agree nw2
V31 mwn: rules of 1”nw (delaying) which invalidate nonw
a  If: the knife or his tools fell and he picked them up; if he stopped to sharpen the knife, if he got tired in the middle and
a friend came and finished no'nw — in these cases, if he delayed the amount of time it takes to perform no'nw — invalid
i Dissent (w™): if he delayed the amount of time it takes for 71p»a (of a man VMW checking knife) - 510
ii ~ Clarification (27): no'nw »12 means the amount of time it takes to slaughter another nnna
1 Question (27 »rps1n): if he is slaughtering a bird - is the 1w a “bird-slaughter” or still nnna nvMw »13?
(a) Answer (27): nnna for a nnna, but if slaughtering a bird, he gets the shorter time
(b) Dissent (581w —also 2ny *9): always get the longer nyw
(c) Dissent (822111 77): enough time to bring and slaughter another animal
(i) Challenge: that leaves a variable Myw
(ii) Rather: he is only adding the amount of time it takes to pull him up for nonw
(d) Alternative (»’A): enough time to pull him up, down and slaughter — np1> NPT but N Noa
iii w27 if he was using a dull blade for hours - not a violation of n”nw
1 Question (8¥37): do nvnw amass? (g: why not answer himself? a: in that case, he didn’t stop at all)
2 Question (317 7772 81777 *): if he already cut 1m0 217 and then delayed - is it a violation? yp'n
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